

$$\Rightarrow 1 = \frac{rb}{r} \Rightarrow b = \frac{r}{r} \xrightarrow{(1)} a = \frac{1}{r} \Rightarrow \boxed{a+b = r}$$

$$\Rightarrow (f(n) - g(n))' = f'(n) - g'(n) = \frac{\frac{-r \times r}{r\sqrt{x}} \times \frac{r}{\sqrt{x}} - \frac{r}{r\sqrt{x}} \times -r\sqrt{x}}{\sqrt{x}^2} \Rightarrow f'(1) - g'(1) = \boxed{\frac{\sqrt{r}}{r}}$$

$$\} \rightarrow \boxed{al = 2}$$

$\Rightarrow 0 \neq m(a-a)^{m-1}x^1 = \begin{cases} m=1 & \Rightarrow f(n) = b + n - a \Rightarrow f'_x(a) = 1 \Rightarrow \text{اعتماد} \\ m-1 \neq 0, m \neq 0 \Rightarrow f'_1(a) = \infty & \text{بدرجه اول مشتق میگیرد نیست} \end{cases}$

$$f \circ g(x) = \frac{1}{\sqrt{r \left(\frac{1}{r x^r} \right)}} = \frac{1}{\sqrt{\frac{1}{x^r}}} = x \Rightarrow (f \circ g(x))' = \boxed{1 = (f \circ g(x^{-1/r}))'}$$

$$\Rightarrow f'(r) - f(r) = -a - (-ra - a) = ra + a = r \Rightarrow a = \frac{r}{r} \Rightarrow \frac{f(r)}{f'(r)} = \frac{r(\frac{r}{r}) - a}{-(\frac{r}{r})} = \boxed{-\frac{1}{r}}$$

$$f(n) = (n \lfloor n^{\frac{1}{r}} \rfloor)^{r+1} \quad g(n) = \frac{1}{\sqrt[n]{n^r - 1}} \Rightarrow g\left(\frac{r}{\sqrt{n}}\right) = \frac{1}{\sqrt[n]{\frac{r}{\sqrt{n}} - 1}} = r \Rightarrow \log(g(n)) = (g(n) \lfloor g(n)^{\frac{1}{r}} \rfloor)^{r+1} = 1 \cdot g(n)^{r+1}$$

$$\Rightarrow (\log(g(n)))' = r \cdot g(n) \cdot g'(n) = r \cdot \frac{1}{\sqrt[n]{n^r - 1}} \times \frac{-r \cdot n}{r \sqrt[n]{(n^r - 1)^r}} = \left(\log\left(\frac{r}{\sqrt{n}}\right) \right)' = \frac{r \cdot \frac{1}{\sqrt{n}} \times -\frac{1}{2} \left(\frac{r}{\sqrt{n}}\right)}{r \sqrt[n]{\left(\frac{1}{\sqrt{n}}\right)^r}} = \boxed{-\frac{1}{2} \sqrt{r}} \Rightarrow \text{بـ } \frac{1}{2} \sqrt{r}$$

$$g(x) = f(x+1) + f(x+2) \Rightarrow g'(x) = f'(x+1) + f'(x+2) \cdot 2 \Rightarrow g'(-1) = f'(-1) + 2f'(1) = 2f'(1) = f\left(\frac{1}{1}\right) = 4$$

$$f'(z) = \frac{1}{\sqrt{1+z^2}} + \frac{1}{\sqrt{1+z^2}} \times (n-1) \Rightarrow f'(z) = 1 + \frac{1}{1+z^2} = \frac{1+z^2+1}{1+z^2} = \frac{2+z^2}{1+z^2}$$

$$\left. \begin{array}{l} y - x = 1 \Rightarrow m = \frac{1}{-1} \Rightarrow m' = -1 \\ y' = x - 1 \end{array} \right\} \Rightarrow x - 1 = -1 \Rightarrow x = 0, y = 1 \Rightarrow \boxed{(0, 1)}$$